6. Mark the right answer to complete the sentences.
a) Romeo thinks Juliet is as beautiful as...
1. The blue sky.
2. The sun.

3. Avredrose.
b) At first, Friar Lawrence doesn’t want to marry Romeo and Juliet because...
1. Romeo was in love with Rosaline till the day before.
2. Juliet is too young.
3. Prince Escalus will punish him.
¢) Tybalt is angry with Romeo because...
1. He has fallen in love with Juliet.
2. Romeo has insulted him.
3. Romeo went to the Capulet’s feast.
d) According to Friar Lawrence, great and sudden love can bring...
1. Great happiness.
2. Great sadness.

3. Peace to the families.

7. Match the questions and the answers.

Why decesn’t Benvolio
want to be in the
streets with
Mercutio?

Because the prince
will punish him with
death.

Because he doesn’t
want to meet the
Capulets.

Why does Tybalt call
Romeo his enemy?

Because he has
offended his family
by geoing to their
feast.

Why doesn’t Romeo
want to quarrel with
Tybalt?

Why does Romeo stand
in between Mercutio To stop the fight.
and Tybalt?

Why does Benvolio Because he has just
tell Romeo to escape? married Juliet.




